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ESPRESSIONI CON POLINOMI

MOLTIPLICAZIONE DI POLINOMI

1.

2.

10.

1.

12.

13.

14.

(a+b)(a+2b)=a’+2ab+ab+2b®=a’+3ab+ 2b’

(a-Db) (2a-Db) =2a* - ab - 2ab + b* =2a* - 3ab + b?
(L+x)(xX*-4)=x* -4+ x> -4x

(X*+x+1) (3x-1)=3x-x*+3x* - x+3x-1=3x+2x* +2x -1
(3a®+2a+4)(a®-1)=3a"-3a’+2a’-2a+4a°-4=3a*"+2a®+a’°-2a-4

(1+3a+8a*-a’)(3a-1)=3a-1+9a°-3a+24a*-8a°-3a*+a*=-3a*+25a°+a* -1

1 2 4 1 2 2 2
— X - Xy+— 6X° —9xy +6Yy7) =
(2 3 y 3yj( y+6y°)

=3x* —g Xy +3x°y* —8x°y +12x°y* - 8xy® + 2x°y* - 3xy® + 2y* =3x* —% Xy +17x°y? —11xy® + 2y*

(a®+a*-4a+1)(3a’-a+4)=

=3a°-a*+4a®+3a*-a*+4a’*-12a°+4a°-16a+3a°-a+4=3a°+2a* -9a° +11a*> -17a+ 4

(2+x-Xx+3x%)(X¥* +7x-1) =

2 +1AX -2+ X+ T = X=X =T + X2 +3xX° +21x* =3 =3xX° + 20x* —9x® +10x* +13x - 2

(2+3a+4a”-25a°) (-2a°+3a-1) =

=-4a’+6a-2-6a°>+9a>-3a-8a" +12a® - 4a®> +50a° — 75a* + 25a®* =50a° -83a* +31la®*+a’*+3a-2

(4x*m-5xm* - 4x> +3m®) (2x - 3m) =

=8x*m-10x*m? - 8x* + 6xm’> = 12x*m? +15xm® +12x°m-9m* = 20x°m - 22x*m? - 8x* + 21xm® - 9m*
(—4x* +2x° —=7xy + y?) (-xy +3y®) =
=4y -2y + 7XP Yy - xy? —12x*y? + 6X° y® - 21xy* + 3y°

(a®> —a+2)(3a°-5a-1) =

=3a’-5a*-a’-3a*+5a°+a+6a*-10a-2=3a*-8a°>+10a* -9a-2

(a*+a®-4a*-7a+1)(-a*+5a°+a-1)=
—-a’+5a°+a*-a*-a*+5a°+a*-a*+4a°-20a* -4a*+4a+7a* -3Ba*-7a®+7a-a*+5at+a-1=

=-a’ +4a° +10a° - 13a* - 41a® +2a®* +8a -1
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15. (X +5X°+4x+1) (2X° - x> +7x-1) =
Z2X =X+ TX =3 +10xX° -5x* +35x3 - 52 +8x* —4AxX* + 28X —4x+2X3 - x> + Tx-1=

=2x° +9x° +10x* +32x3 + 22x* +3x -1

16. (3a°-4a+5)(2a-3)+5a°(-3a+1)=
=6a®-9a’ -8a” +12a +10a -15-15a° + 5a®> = -9a® - 12a* + 22a - 15

17. (3a-4)(2a+5)+(3a-2)(2a+1) =
=6a’+15a-8a-20+6a*>+3a-4a-2=12a°>+6a-22

18. (X*-3x+2)(x-1)-(3x—-2)(xX* -5x+2)=
=X - X" -3x*+3x+2x-2-(3x* -15x* + 6x — 2x* +10x — 4) =

=X -4 +5x-2-3x +15X° - 66X +2Xx* - 10x+4=-2x3 +13x* - 11x + 2

19. [3x*+ (4x-1) (x+1)](2x+3) =
=(3X*+4X° +4x-x-1) (2x+3)=(7x* +3x—-1) (2x+3) =
=14x° + 21x* +6X* +9Xx - 2Xx—-3=14x> + 27Tx* +7x -3

20. [x(x=-3)-1][x*-5(x+1)]+3x(x*-5)=
=(x*-3x-1) (x* -5x-5) +3x* -15x =

=x* =5 -5x2 -3x®* +15x* +15x - x> + 5x+ 5+ 3x* -15x=4x* -8x* +9x* +5x + 5
21. [3a’b-2a’+ (ab® - 7a’b) — (2a® - 4ab®)] (-2a+ 3a°) =

=(3a’b-2a’+ab®-7a’b-2a’ + 4ab®) (-2a+3a’) =
= (-4a’b - 4a® + 5ab®) (-2a + 3a%) =8x’b —12a°b + 8a* - 12a° — 10a°b” + 15a*b?

22. [-2x(x-2y)+(2x - y)(2—3x)]{% y(x-vy) —gxy}:

=[-2Xx* + 4xy + 4x — 6X° —2y+3xy][%’xy—%y2 —gxy}=

=(_8X2 +7xy+4X—2y)(—Xy—%y2j:

8 7 4 2
=8X°Y+ - XY - TXY - =Xy —4xXy - =Xy’ +2xy* + =y® =
y 3 y y 3 y y 3 y y 3y

13 7 2 2
=8X’y - = X'y =Xy  —4X°y+ =Xy’ + =
y 3 y 3 y y 3 y 3y
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